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1. The	value	of	7.03	+	6.6	is
(i) 13.830 (ii) 13.630 (iii) 13.430 (iv) 13.530 (v) 13.730

2. The	value	of	39.6	+	29.043	is
(i) 68.643 (ii) 68.743 (iii) 68.843 (iv) 68.543 (v) 68.443

3. The	value	of	549.84	+	341.0014	is
(i) 890.8414 (ii) 891.0414 (iii) 890.7414 (iv) 890.9414 (v) 890.6414

4. The	value	of	50.19	+	5.0062	is
(i) 55.2962 (ii) 55.3962 (iii) 55.1962 (iv) 55.0962 (v) 54.9962

5. The	value	of	8.2	−	4.05	is
(i) 4.35 (ii) 4.15 (iii) 3.95 (iv) 4.05 (v) 4.25

6. The	value	of	60.4	−	70.6	is
(i) -10.10 (ii) -10.40 (iii) -10.20 (iv) -10.30 (v) -10.00

7. The	value	of	100.048	−	64.077	is
(i) 35.871 (ii) 35.771 (iii) 35.971 (iv) 36.171 (v) 36.071

8. The	value	of	434.8	−	35.114	is
(i) 399.786 (ii) 399.486 (iii) 399.586 (iv) 399.886 (v) 399.686

9. The	value	of	5.1	✕	8.6	is
(i) 44.060 (ii) 43.760 (iii) 43.660 (iv) 43.960 (v) 43.860

10. The	value	of	4.03	✕	7.8	is
(i) 31.3340 (ii) 31.4340 (iii) 31.2340 (iv) 31.5340 (v) 31.6340

11. The	value	of	1.6	✕	8.67	is
(i) 14.07200 (ii) 13.97200 (iii) 13.67200 (iv) 13.77200 (v) 13.87200

12. The	value	of	9.79	✕	8.37	is
(i) 81.74230 (ii) 81.94230 (iii) 82.14230 (iv) 82.04230 (v) 81.84230

13. The	value	of	1.2	÷	6.9	is
(i) 0.17 (ii) 0.27 (iii) -0.03 (iv) 0.37 (v) 0.07

14. The	value	of	6.1	÷	4.4	is
(i) 1.19 (ii) 1.59 (iii) 1.29 (iv) 1.49 (v) 1.39



15. The	value	of	47.07	÷	19.9	is
(i) 2.27 (ii) 2.57 (iii) 2.47 (iv) 2.37 (v) 2.17

16. The	value	of	67.61	÷	48.9	is
(i) 1.58 (ii) 1.38 (iii) 1.28 (iv) 1.18 (v) 1.48

17. 99.8	+	______	=	170.5
(i) 71.7 (ii) 69.7 (iii) 72.7 (iv) 68.7 (v) 70.7

18. 34.74	+	______	=	104.11
(i) 68.37 (ii) 70.37 (iii) 69.37 (iv) 71.37 (v) 67.37

19. 10.135	+	______	=	80.846
(i) 69.711 (ii) 70.711 (iii) 71.711 (iv) 68.711 (v) 72.711

20. 67.3573	+	______	=	162.0265
(i) 94.6692 (ii) 96.6692 (iii) 95.6692 (iv) 93.6692 (v) 92.6692

21. 44.7	−	______	=	-32.9
(i) 78.6 (ii) 75.6 (iii) 79.6 (iv) 77.6 (v) 76.6

22. 5.75	−	______	=	-8.61
(i) 14.36 (ii) 15.36 (iii) 16.36 (iv) 13.36 (v) 12.36

23. 49.727	−	______	=	48.019
(i) 1.708 (ii) -0.292 (iii) 2.708 (iv) 0.708 (v) 3.708

24. 69.7978	−	______	=	-29.4421
(i) 97.2399 (ii) 100.2399 (iii) 98.2399 (iv) 101.2399 (v) 99.2399

25. 7.5	✕	______	=	743.2
(i) 98.1 (ii) 101.1 (iii) 99.1 (iv) 97.1 (v) 100.1

26. 31.33	✕	______	=	1306.77
(i) 39.71 (ii) 42.71 (iii) 41.71 (iv) 43.71 (v) 40.71

27. 87.961	✕	______	=	4478.798
(i) 48.918 (ii) 52.918 (iii) 50.918 (iv) 49.918 (v) 51.918

28. 39.9854	✕	______	=	2797.7624
(i) 67.9696 (ii) 71.9696 (iii) 68.9696 (iv) 70.9696 (v) 69.9696

29. 1123.7	÷	______	=	35.9
(i) 31.3 (ii) 29.3 (iii) 32.3 (iv) 30.3 (v) 33.3

30. -381.89	÷	______	=	74.88
(i) -7.1 (ii) -6.1 (iii) -3.1 (iv) -5.1 (v) -4.1



31. 4551.409	÷	______	=	55.459
(i) 82.068 (ii) 81.068 (iii) 84.068 (iv) 83.068 (v) 80.068

32. 1326.0335	÷	______	=	17.1212
(i) 76.4498 (ii) 78.4498 (iii) 77.4498 (iv) 79.4498 (v) 75.4498

33. 1.08	+	7	=	______
(i) 7.08 (ii) 6.08 (iii) 9.08 (iv) 8.08 (v) 10.08

34. 7.03	−	7	=	______
(i) 7.03 (ii) 2.03 (iii) 1.03 (iv) 8.03 (v) 0.03

35. 3.05	✕	2	=	______
(i) 4.1 (ii) 5.1 (iii) 8.1 (iv) 6.1 (v) 7.1

36. 7.04	÷	5	=	______
(i) 1.408 (ii) 2.408 (iii) 9.408 (iv) 3.408 (v) 0.408

37. 6	+	5.05	=	______
(i) 13.05 (ii) 12.05 (iii) 10.05 (iv) 9.05 (v) 11.05

38. 9	−	7.03	=	______
(i) 3.97 (ii) 9.97 (iii) 1.97 (iv) 0.97 (v) 2.97

39. 7	✕	9.02	=	______
(i) 65.14 (ii) 63.14 (iii) 62.14 (iv) 61.14 (v) 64.14

40. 7	÷	6.03	=	______
(i) 1.1609 (ii) 0.1609 (iii) 3.1609 (iv) 2.1609 (v) 9.1609

41. Multiply	8.02	with	10
(i) 8.02 (ii) 8020 (iii) 802 (iv) 0.802 (v) 80.2

42. Multiply	1.07	with	100
(i) 10700 (ii) 1.07 (iii) 107 (iv) 1070 (v) 10.7

43. Multiply	5.01	with	1000
(i) 501000 (ii) 50.1 (iii) 50100 (iv) 501 (v) 5010

44. Multiply	4.09	with	10000
(i) 4090000 (ii) 409000 (iii) 40900 (iv) 4090 (v) 409

45. Divide	1.03	with	10
(i) 0.00103 (ii) 0.103 (iii) 0.0103 (iv) 10.3 (v) 1.03

46. Divide	7.02	with	100
(i) 0.702 (ii) 0.0702 (iii) 0.000702 (iv) 0.00702 (v) 7.02



47. Divide	346.17	with	1000
(i) 0.0034617 (ii) 0.34617 (iii) 0.034617 (iv) 34.617 (v) 3.4617

48. Divide	2761.23	with	10000
(i) 0.00276123 (ii) 0.0276123 (iii) 2.76123 (iv) 27.6123 (v) 0.276123
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